
NOTE: Do not print Pantone Red 032, 
it is for print registration only. Front

1  Before you begin

1.1
 

1.2
 

IBM n1200
Enclosure Type 5456

NeXtScale 

Note: 
n1200 Enclosure Type 5456 Installation and Service Guide.

Before you install this product, read the safety information in the IBM 
 NeXtScale 

Verify the shipment contents:

(22) M5 x 16 combi head screws (black)

(12) M5 Clip-nut - 74F1823

(12) M5 Cage-nut - 81Y2820

(4) Chassis lift handles 

(1) Right EIA cover

(1) Left  EIA cover

(20) 165 mm Velcro strip - 00AM321

Accessory kit - tray 1 

(1) Power cable per power supply

Documents

CD

Accessory kit - tray 2

Rack mounting template - 00Y8016

IBM NeXtScale n1200 Enclosure

(10) 350 mm Velcro strip - 51H9502

(8) M5 x 16 combi head screw ( 4 extra , black ) 

(1) Left chassis mounting rail - 88Y6722

(1) Right chassis mounting rail - 88Y6723 

Rail installation kit

Quick Start 
Instructions

2  Install the IBM  n1200 Enclosure in rackNeXtScale

2.1
 Align the rack mounting template with the holes on the rack. 

M5 clip nutM5 cage nut

Round Hole

or

oror

1U

1U

1U

1U

 
Rack Mounting

 Template

FRONT

or

F
R

O
N

T

1U

2.2
 Install M5 nuts in the rack holes indicated on the Rack Mounting Template. 

Round holeSquare  hole

2.3
  

 

Align the posts on the chassis rail with the corresponding holes on the rear 
rack rail. Insert the posts on the rear of the chassis rail through the holes on
the rear rack rail until the hooks snap into place. 

Rear rack
rail

LEFT FRONT

2.4
  

2.5
 

 

Pull the chassis rail forward and insert the posts on the front of 
the chassis rail into the holes on the front rack rail until it snaps 
into place. 

Front rack
rail

LEFT FRONT

Install one M5 screw in each end of the rail. 
2.5 for the right rail.

Repeat steps 2.3, 2.4, and 

M5 screw (rear)

M5 screw (front)

2.6
  To decrease the weight and make the chassis easier to be installed 

in a rack, remove front nodes and rear components from the 
chassis. 

(x 12)

(x 6)

(x 10)

• You will need at least 6U of available space to install the IBM 
  n1200 Enclosure. 

NeXtScale 

• If you have an adjustable rack, set the distance between the front and rear
  EIA flanges to 719 mm (28.3 inches) outside to outside.

• Make sure that minimum distance from front EIA flange to the closest features 
  on the inside of the front rack door is approximately 80 mm (3.15 inches).

2.7
  Attach the chassis handles. Align the slots on the handle with the 

posts on the side of the chassis and slide the handle up until it 
locks into place.

Handle

 100 kg
(220 lbs)

32 kg
(70 lbs)

(x 6)

(x 10)

(x 12)

Rack Mounting Template

Screws required to 
secure rails

before installing chassis 

1.3
 

1.4
 

1.5
 

http://ibm.co/19pHxV8



5.1

5.2

Convert the two hexadecimal digits at the left end of the string to binary. 
For example,

Split the MAC address into two parts and insert FF- FE in the middle.
For example, 39-A7-94-FF-FE-07-CB-D0

5.3

Write down the MAC address of the FPC. 
The MAC address is listed on the network access tag attached to the 
handle of the FPC, if it has not already been removed. 
For example, 39-A7-94-07-CB-D0

When using IPv6 addressing, initial connection to the FPC is done using the 
IPv6 link-local address. The link-local address is a unique IPv6 address for the 
FPC that is automatically generated based on its MAC address. It is of the 
form: FE80::3BA7:94FF:FE07:CBD0.

If the FPC does not have a label listing the link-local address and you are 
unable to access the FPC using IPv4, complete the following steps to calculate 
link-local address. Procedure:

  39-A7-94-FF-FE-07-CB-D0
•  00111001-A7-94-FF-FE-07-CB-D0
•

P/N 46W811907/31/2013

5.8
Add Fe80::to the left of the string. For example,
FE80::3BA7:94FF:FE07:CBD0

5.4
Invert the value for bit 7 of the binary string. For example,

5.5

  
•  001110 1-A7-94-FF-FE-07-CB-D0
• 00111001-A7-94-FF-FE-07-CB-D0

1

Combine the hexadecimal digit pairs into 4-digit groups. For example,
5.6

  3B-A7-94-FF-FE-07-CB-D0
•  3BA7-94FF-FE07-CBD0
•

Replace dash (-) separators with colon (:) separators. For example,
5.7

  3BA7-94FF-FE07-CBD0
•  3BA7:94FF:FE07:CBD0
•

Convert the binary digits at the left end of the string back to hexadecimal

 For example,
•  00111011-A7-94-FF-FE-07-CB-D0
•  3B-A7-94-FF-FE-07-CB-D0

(x 6)

(x 10)

Slide the chassis farther into the rack until the front chassis handles are
near the front rack rails, and remove the front handles. Then, slide the 
chassis all the way into the rack.

BackNOTE: Do not print Pantone Red 032, 
it is for print registration only. 

Power the Enclosure Connect to the Fan and Power Controller3  4  5  Calculating the IPv6 address for initial connection

2.8 2.9 2.10 2.11

2.12 2.142.13

2.15

Lift the chassis up, slide the chassis into the rack until the rear chassis 
handles are near the front rack rails. While supporting the chassis, 
remove each rear handle by pressing inward on the spring latches on 
the handle and sliding the handle down. 

Insert six M5 Phillips screws into the front of the chassis.

  

Install EIA bracket covers onto the front of the chassis.

Reinstall all the components into the chassis. Cable the power supplies. 
onto the handle.  

Use velcro strip to wrap the power supply cable Cable the Fan and Power Controller Ethernet port to a network 
device. 

Cable the front nodes.

Velcro strip
Front view of the IBM NeXtScale n1200 Enclosure

Bay 1

Bay 5

Bay 3

Bay 7

Bay 11

Bay 9

Bay 2

Bay 6

Bay 4

Bay 8

Bay 12

Bay 10

 

Make sure that the following LEDs are lit:

The dc power and ac power LEDs on each power supply

The power LED on the Fan and Power Controller

•

•

Connect the applicable power cords and supply power to the chassis.

•

The activity LED on the Fan and Power Controller blinks••

AC 
power
LED

DC 
power
LED

Fault
LED

 
When the power LED of each node turns from fast blink to slow blink, 
press the power button to turn on the node.

Power LED

Activity LED

3.1
 

3.2
 

3.3
 

4.1

4.2

4.3

Connect an Ethernet cable from the client computer to the Fan and Power 
Controller (FPC). 

The default information is shown below:

4.5
Enter the FPC user name and password to start the remote session.
•  The user ID and password are case sensitive.
•  The default password is PASSW0RD (note that 0 is a zero).

User Name

Password

USERID

PASSW0RD
Zero

MMxxxxxxxxxxxxHost Name

Static IP 192.168.0.100

255.255.255.0Subnet

xxxxxxxxxxxx is the burned-in MAC address

Make sure that the IP address of the client computer is set to be in the same 

local domain as the FPC, such as 192.168.0.99. The subnet of the client 

computer is set to be 255.255.255.0. 

4.4
Open a web browser on the client computer, and input the FPC IP address. For 

the first connection, use the default IP address.

The illustration shows the bay numbers of nodes in a chassis.

 (x 12)

Handle
Handle


	Page 1
	Insert from: "posterfrontc_n1200_0814_V5.pdf"
	Page 1

	Insert from: "posterbackc_n1200_0731_V5.pdf"
	Page 1


